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A car driving up a hill, represents what type of ene;gff?
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General Bonding review: Draw a line from the property to the bond type
a. Contains only a sigma bond —>» Single bond
b. Highest energy \
¢. 4 electrons ; -~  Double bond
d. Shortest bond ‘
e. Sigmaand2 pim Triple bond

Conservation of Energy: Cébmplete the charts below.
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Propane {although not gaseline) is a common fued used in some cars, forklifts and other machines.
Sketch out each structure a_nd tzBy up all the bonds and __energiﬁ that are being broken and being formed.
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1. Methane (CHy) burns in oxygen to produce carbon dioxide and water.

a) Write out Lewis structures of each reactant and product.
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b) Estimate enthalpy change using bond energy charts. 2 = L2 S
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*This is an alternate version that occasional y showstp on AP exams : : s
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For the following reaction {o /- Q é;, gl g@;g, Lf /
NoHy — No + 2H; ’

a) Write out Lewis structures of each reactant and product.
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N-H = 93J/mol N=N =226J/mol H-H = 104J/mol
b) Using the following Bond energies, solve for the bond energy of the N=N bond
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